] ,

. ANSTALLATION

. MANUAL
1991

|
I
|
(
|

| | g @e

- Munch’s Make Believe Band



e

[____

N BE BN - -

Preface

TABLE OF CONTENTS

Damage/Inspection List/Vendor Contacts

and Telephone Numbers

Daily Schedule

Tools Needed for Installation

Destruction Procedures

Installation Procedures
Diagram A (Pasqually/Stage Left)

Diagram B (Munch Band/Center Stage) -

Diagram C (Chuck E. Cheese/Stage Right) - - - - -

Lighting Diagram .

Flameproofing

UL Listing

Warranties

Index

Page

10
11

13
13

26

2

72



PREFACE

You, along with hundreds of other ShowBiz employeeg, —
embark on a metamorphic journey. The following instructions S0 ;{t to
with the instructional video tape will guide you and the installation t'ned
step by step in transforming the Rock-A-Fire Explosion to the g| neweam,
exciting Chuck E. Cheese and Munch’s Make Believe Band show _'E_l:.d
unique show can only be seen in ShowBiz Pizza Time, Inc. Corporate an'g

Franchise locations.

Our characters will now be one of a kind, one in the same, stronger than
ever.... ONE big happy family! Your help and installation of this show will
bring ShowBiz/Chuck E. Cheese to a new height in restaurant
entertainment.



- . . .\ '\

DAMAGE/INSPECTION LIST

. Inspect outside of container/merchandise for cosmetic and technica| damage

—n

2. Make notation of damage (if applicable) on freight bill.
for receipt of merchandise.

Driver will ask You to sign
3. Compare contents of each box to the checklist in the installation manual,

4. If damage has been incurred, retain container until claim process is completed

5. Call freight company and file claim with local terminal. Obtain local terminal number

from information. If unable to locate local number, contact Shelly Atkins at
Corporate Office 214/258/8507 ext. 441.

6. Call Corporate Office Entertainment Department at 214/258-8507 ext. 441 to reorder
replacement part(s). All replacements will be billed to your location. Yoy will be
reimbursed by the freight company, so file your claims as soon as possible.

Below is a listing of how many boxes you will be receiving from each vendor:

ITEM # OF BOXES VENDOR
Big Screen 1 SW Electronix/Lud Ulrich
214/458-7123
Props 12 Corman & Associates Inc./Ted Corman
606/233-0544
Helicopter Light 1 SLD Lighting/Glenn Hilzen
: 212/245-4155
Cosmetics 6 Diversified Designs/Dave Thomas
407/767-0487 . 5008 Cheis
Fiber Optic Curtain 1 Fibertech/Paul Streitz 7+~ ==° "~
817/262.9727 2/~ -C3IF nocuen
Carpet 1 Roll Nationwide/William Neel
(3 sections) 817/838-7360
Neons Heath Sign Company/Gordon Townsend
(Call 800/527-9495 for sign installation) 214/637-0650
Tapes, Manual, 1 ShowBiz Pizza Time, Inc./Doyle Williams
Video Cable, and Eprom 214/258-8507 X425

It any items are missing, please contact Shelly Atkins at 214/258-8507 ext. 4% or the
vendor contact above.



Props - Corman & Associates

Contents Arrival Date
Box #1

Organ Cover

2 Small Buildings
Star Bracket

Star Stand

Touch-up paint

Star lights: Box of

60 (5 extra)
Box # 2

Building Shapes

Box #3

Building Shapes

Box #4

Munch Jr. Pot

Rain Curtain

Helicopter Base

Jasper Pedestal

Box #5

CEC Platform

Box #6

Star, Outlet Strip,
and Controller

Contents A

%
Box #7
Jukebox Top

\
Box #8
Jukebox Bottom

\
Box #9
Speaker Cover

-

Box #10

Brick Wall Panels
Munch’s Band Sign
with Bracket

1 Drum Face

1 Pasqually

Base Cover (2 pcs)

D
e ————

Box #11

Top and Base Trim
for Brick Wall

Box #12

2 Pink Planters
with Flowers

The boxes will be marked on the outside for inside contents. If any items are missing,

Please contact Shelly Atkins at 214/258.8507 ext. 441 or vendor.

inspection page 1).

(See damage



e B —— B~ —— N BT |

Cosmetics - Diversified Designs

Contents Arrival Date
Box #1 - Chuck E. Cheese /“ .
Mask _a;éfz_—_-
Left Hand - w/cane _/_7442____
2 Feet B/
Tux/Shirt unit “2\

Hat e
Mechanical Arm 4

Box #2 - Helen Henny

Mask @ IA7
Blouse/Arms Ass. %

Left Hand 77

2 Legs f

Hair Assembly ool /5 777

(Incl. hair ornaments)

Box #2 - Jasper

Mask A "? 27
Left Hand w/plastic -

insert

Shirt ,
Hat w/red band- ﬁ:
w/2 wingnuts and wash

Box #3 - Munch

Mask /M

Right Hand — 0
« Right Arm Fur L
% Eye Lids (2)

Right Shoe

Box #4 - Pasqual
Mask w/chef hat

A
i

Left Hand ~

Left Foot ——

Vinyl Undergarment
Pants

2 1/4" x 3 1/2" Round Head Machine Screws w/nuts

tent
Contents %

Ears ‘%\
Right Hand 77

1/4" Splicer Plugs ‘4#’\
Fur Legs %

\_ Cane e

Right Hand

Skirt %
2 Lavender & White |

Tennis Shoes

‘Mouth Extension A,

Right Hand w/plastic -
insert

Pants
Red Suspenders ﬁi

2 Red & White _’\{
Tennis Shoes

Left Hand .
Left Arm Fur e

Hat 2

Left Shoe L

Body Fur

Scarf -
Right Hand e
Right Foot _ e
Shirt I

2y



Cosmetics - Diversified Designs
(Cont.)

Contents Arrival Date

Box #5 - T.V. Camera - Munch Jr.

Plastic Head
Plastic Lens
Munch Jr. Unit
Mouth Extension

Box #6

CEC Emblem
2 Connectors
Animated Building

Contents Arrival Date
Plastic Knobs

Latex Face

Beanie Cap -

(attached to top of mask)

2 Flow Controls

Note: Hardware will be attached to appropriate cosmetic parts as listed.

if any items are missing, please contact Shelly Atkins at 214/258-8507 ext. 441 or

vendor. (See damage inspection page 1).



HARDWARE LIST

These items will already be attached to appropriate parts.

CHARACTER COMPONENT PART QUANTITY HARDWARE

Chuck E. Cheese Earle Eyelids 1 1/8" Splicer Plug
Left Hand 1 1/4" x 2 1/2" Stove Bott
Left Hand 2 1/4" x 1 1/4" Fender Washers
Left Hand 1 1/4" Lock Washer
Left Hand 1 1/4" Hex Nut
Ears 4 6-32 5/8" Machine Screws
Ears 8 #6 Flat Washers
Ears 4 #6 Lock Washers
Ears 4 6-32, Hex Nuts
Cane 1 Modified L-Bracket
Cane 2 #1 Conduit Hangers

with Bolts

Earle Mouth 2 1/8" Splicer Plug
Earle Twist 2 1/4" Spli

Helen Henny Left Hand 1 1/4" x 2 1/2" Stove Bolt
Left Hand 2 1/4"x 1 1/4" Fender Washer
Left Hand 1 1/4" Lock Washer
Left Hand 1 1/4" Hex Nut
Right Hand 1 1/4" x 2 1/2" Stove Bolt
Right Hand 2 1/4"x 1 1/4" Fender Washer
Right Hand 1 1/4" Lock Washer
Right Hand 1 1/4" Hex Nut

Jasper Right Hand 1 1/4" x 2 1/2" Stove Bolt
Right Hand 2 1/4" x 1 1/4" Fender Washers
Right Hand 1 1/4" Lock Washer
Right Hand 1 1/4" Hex Nut
Hat 2 1/4" x 1 1/2" Stove Bolt
Hat 4 1/4" x 1" Flat Washers
Hat 2 1/4" Lock Washers
Hat 2 1/4" Hex Nuts
Left Hand 2 1/4" x 1" Stove Bolts
Left Hand 4 1/4" x 1" Fender Washers
Left Hand 2 1/4" Lock Washers
Left Hand 2 1/4" Hex Nuts



e R A R

S J

[8 smoween |

Pasqually

T.V. Camera

CEC Emblem

Animated Building

if any items are missing,
vendor. (See damage

Left Foot
Left Foot
Left Foot
Left Foot

Plastic Head
Plastic Head
Plastic Head
Plastic Head
Plastic Head
Plastic Head
Plastic Head
Plastic Head
Plastic Lens
Plastic Lens
Plastic Lens
Plastic Lens
Plastic Lens

NMNNMDNDN

- =2 N2 =2 PNDMNDNON—=- LD

- = =2 NN

MDD AN

1/4" x 3 1/2" Stove Bolts
1/4" x 1" Flat Washers
1/4" Lock Washers

1/4" Hex Nuts

1/4" x 2 1/2" Stove Bolts
1/4" x 1" Flat Washers
1/4" Lock Washers

1/4" Hex Nuts

6-32, 5/8" Machine Screws
#6 Flat Washers

#6 Lock Washers

6-32 Hex Nuts

Modified L-Bracket

6-32, 1" Machine Screws
#6 Flat Washers

#6 Lock Washers

6-32 Hex Nuts

Adjustable L-Brackets
Self Taping Screws
Flat Washers

12’ Airline

Reducer

Mac Valve Plug

1/4" x 1 1/2" Stove Bolts
1/4" x 1" Flat Washers
1/4" Lock Washers

1/4" Hex Nut

please contact Shelly Atkins at 214/258-8507 ext. 441 or
inspection page 1).



Helicopter Light - SLD Lightin

One Box Containing: (1) 4030-6 Head Helicopter
(6) 4515-Light Bulbs
(6) 4021-Colored Gel Lenses

Carpet - Nationwide
One Roll Of: 3 Pieces 12' X 15’ Ea.

50" Pioneer Monitor - SW Electronix

One Box Containing: 1 50" Monitor
1 Remote
1 Owners Manual

Fiber Optic Curtain - Fiber Tech

One Box Containing: 1 Curtain
1 Controller Projector

ShowBiz Pizza Time, Inc.

One Box Containing: 1 Premier Showtape
1 Regular Showtape
1 Diagnostic Tape
2 Rolfe Tapes -

Arrival Date

(return one after completion of installation or pay

$25)

1 Installation Tape
75’ Video Cable

1 3.3 Eprom

Neons - Heath Sign Compan

Shipped directly to a local installation Co.
(call 800/421-0181 to set up time)

Please make sure you have sign installation scheduled for Friday when stage is
completed. There will be an extra charge if the installers have to come out twice.

if any items are missing, please contact Shelly Atkins at 214/258-8507 ext. 441 or

vendor. (See damage inspection page 1).

7

Ingtallation Date



This is an overview of the installation Schedule; review it in detail befo
WEDNESDAY MORNING -
—__\

T

CONCEPT UNIFICATION SCHEDULE

e you begin,
(Prior to Sunday Installation)

SUNDAY

- 2 OONOOOHON -

ey

Unpack and inve
Remove a| front
Remove al| cosm

ntory all shipments for com
Props and discard.

i etics on center stage and Billy Bob’s stage and

Unbolt Billy Bob mech and store forg eventual c‘ilisassembly? ooy
Unbolt and disconnect all mechs (except Rolfe & Earle) from stage.
Remove and discard any remaining backdrops.
Remove carpet from center and left stage.
Mark and cut n

ew trap doors and character line holes.
Install new carpet (center and left stage).
Clean up.

Remember at the end of each days installation to check airlines and make sure
Rolfe and Earle are running for business hours.

pleteness and damage.

MONDAY

ouprw N

© o N

10.

Mark locations of mechs, props, and lights.

Install major backdrops/props including Munch’s Make Believe Sign, Organ,
Dook’s pedestal.

Re-position and bolt down all characters.

Re-connect all hoses, air lines, valve banks.

Drop the high air pressure down to 70 PSI.

Run the Concept Unification’s showtape to check air lines and mechanical
movements. )

Re-set the high pressure to 80 PSI =

Clean up.

Remember at the end of each days installation to check airlines and make sure
Rolfe and Earle are running for business hours.

Call to schedule Neon installation for Friday 800/421-0181.

TUESDAY

1.
2.
3.

Install the wink mech. . .
Install final props and helicopter light.
Cosmetic conversion of all characters.

8



TUESDAY (CONT.

N O

© ®

Remove Rolfe & props from the right stage.

Recarpet right stage.

Install new rain curtain.

Reposition and bolt down Rolfe and Earle. (Do not remove cosmetics unless you

can complete steps 1 - 7 under Wednesday).
Clean up.

Remember at the end of each days installation to check airlines and make sure
Rolfe and Earle are running for business hours.

WEDNESDAY

Noorowod

Convert Rolfe & Earle’s stage, props and cosmetics.
Adjust lighting, spots, etc.
Adjust the high pressure on the show down to 70 PSI.

Adjust flow controls and VCR the show.
Run showtape.

Clean up.
Project is now completel

THURSDAY

Allow Thursday for any fine tuning that might be necessary. Also, if you have over your

showroom "Now Appearing Rock-A-Fire Explosion”, please remove it and repaint wall
if necessary.

FERIDAY

"Chuck E. Cheese" neon sign installation.



RECOMMENDED TOOLS & SUPPLIES

NOTE: It is very important that you have all of the following tools assembled together
prior to installation on Sunday.

1 CAN ACE BRAND #17016 ORANGE SPRAY PAINT

SET OF SAE WRENCHES (BOX AND OPEN END)

2* HOLE SAwW

CIRCULAR SAW

JIGSAW

FELT PENS

25' TAPE MEASURE

CRESCENT WRENCHES

2 SOCKET WRENCHES WITH SAE SOCKETS, (i.e. 7/16% 1/2*, 9/16")
SCISSORS

MAT KNIFE & BLADES

2 PORTABLE WORK UGHTS

STAPLE GUN & STAPLES

SUPER GLUE

SMALL ZIP-LOC BAGS OR CONTAINERS (Cotton Candy Bags)

4 CANS FLAT BLACK SPRAY PAINT

OILER QUICK DISCONNECTS - 7 SETS (These should already be installed. | they aren't,
please do so before Sunday installation)

22X4Xxs

1-150W BULB

RED 7 1/2 WATT BULB, STANDARD BASE (For the RAF sign)
CHALK (For marking on carpet)

GLUE GUN & ~50 STICKS OF HOT GLUE

EMPTY DUMPSTER

1 PINT CARPET ADHESIVE (for trap doors)

BOX OF 75 - 100 UPHOLSTERY NAILS (Pasq. base cover)

20" OF 4* DIAMETER DUCT HOSE (CP1)

6’ LADDER

BROOM

MASKING TAPE

BOX OF 100 - 2* #6 DRY WALL SCREWS '
4 EA KQPO7 1/4" SPLICER PLUG LARGE - 1 EA KQPO1 1/8° SPUCER PLUG
SMALL AIR PLUGS - CPI

TARPS OR OLD CLOTH

BOX OF 100 - 1° #6 DRYWALL SCREWS

FLAT WHITE SPRAY PAINT

POWER DRILL, DRILL BITS

In addition, if control room is on stage left (Pasqually Stage), you'll need:

3 L BRACKETS - (MAYBE UTILIZED FROM OLD TREE PROPS)
UTILITY KNIFE

DRILL W/DRYWALL SCREWDRIVER BIT

SKILL SAW

STRAIGHT EDGE

MEASURING TAPE

1-8FT22X ¢4

2-10FT2X 4

1-10FT1°X ¢4

3 1/2° DRYWALL SCREWS FOR 2* X 4’ INSTALLATION TO WALL
1 - 47" WIDE X 8' LONG 1/8* PLYWOOD

10



DESTRUCTION PROCEDURES ROCK-A-FIRE SHOW COSMETICS AND PROPS

against

In conjunction with signed legal agreements and as a protection measure
Ced.

competitors, it is imperative that the following destruction procedures be enfor

Character Valances: If not already destroyed - Cut through character and slash

remaining material.
Masks: Masks will need to be cut in half.

Organ Front and RAF Sign: Spray paint with black paint on both sides over letters so
sign is illegible.

Sun: Slash the face.

Spider: Remove head and feet from body.

Rolfe Right Arm and Billy Bob Mech: Store for future disassembly; use for spare parts
in the store.

Back Drop and Clothing: Cut up each item in several pieces.

All mechanical, fiberglass and foam parts will be utilized in new show with the exception
of Billy Bob being used for parts, and Looney Birds fiberglass skulll.

The following form will need to be filed out by the District Manager or Franchise
Representative for your location and then returned to the Corporate Office for our
files. Save all the above items for your District Manager or Regional Representative to

check of on.



- B 3 N N =

1.

MAKE A STRONG
POT OF COFFEE

é




DIAGRAM A

“l

/g Lﬁk” s 12v |
1 n

14'5"

/
PASQUALLY

PEDESTAL

gl

' Ay
Pasqually Stage Left $é ﬁ[
SCALE: %" = 1' ' ‘

= By
. Measurements are guidelines, may need to be adapted for individual situations. /\J




STEP 1

Prior to installation, you should view the installation tape in it's entirety. It may be
helpful to view the tape and manual simultaneously.

TO BEGIN

Clear at least a 15’ x 30’ space in the showroom to use when you are cutting carpet
and also as a work area.

STAGE LEFT - (Billy Bob Stage)

Remove all props and mechs: Blue Fabric Backdrop
Looney Barrel
Campfire
Campground Sign
Lamppost
Trees

Flowers
Unbolt and quick disconnect Billy Bob and *Looney

Bird mechs.
*Floor Lights

QUICK DISCONNECT PROCEDURES:

(Requires 2 people: 1 on top of stage, 1 underneath stage)

1. Disconnect the main air supply to lubricator.

2 A. Separate mac valves at quick disconnect using 7/16" socket and combination
wrench.

a? >
Quick | '
Disconnects (

*will be utllized In new show

14



B. After separation you'll need to put a plastic bag (cotton candy bag) over "O"
rings and tape tightly at the top so when you move it around the o-rings are

not lost.
o =+ J\~ DISCOMNECT
\‘I’ BAG
— TAPE

Note: Remember while you are moving the mechs and props around, make sure all
trap doors are closed so you won't get injured.

BEFORE YOU LAY CARPET:

1. Measure placement for TV Camera (old Looney Bird’s mech) and drill through
stage floor where bolts will secure mechs. (See diagram A).

2. Measure where trap door will be; so when you have to cut the carpet out for
them, they will be easier to find.

CARPETING PROCEDURES

1. Remove old carpet and discard.
2. Vacuum and sweep stage floor to clear carpet debris.
3. Mark center line. Please calculate the center line in the following manner. The

distance between A and B divided by 2. Designate which edge of the tape is
the center and use the edge for each measurement.

:?" BACY m
b

A E 2
h

4, Your trap doors should remain the same, but just to be sure mark off new
measurements from Diagram A before carpeting. Remove hinge from old Billy
Bob trap door and nail shut. It will no longer be used since Pasqually’s hoses

are on top of the stage.
-
' iLea this trap door accessable.

'
-

Nail this trap door shu




10.

11.

12.

13.

geasure ?h.e hole where the campfire used to be and cut a piece of wood that
1ze to nail in and cover hole. You may want to utilize the wood the clouds were

made of on center stage.

Ilé'c:'olt curtain motor from stage so you can carpet underneath and reduce noise

Using ﬂaj\t black spray paint, repaint curtain motor control box and surrounding
area which may have greenery painted on it. -

Extend the center line mark about 6" up on the back wall.

The roll of carpet is cut in 3 pieces of equal length. /\;_/

Unroll 1 piece of the carpet for stage left.

A. La};t the carpet lengthwise, flush up against back wall if control room is stage
right:

B. With mat knife, trim right up next to front stage molding. Trim corner in
middle of the left and center stages. Lay the carpet lengthwise and up the

back wall if control room is stage left:

Tack down using heavy duty staple gun around front edge of molding up against
back wall every inch or so.

Rebolt curtain motor to floor.

Take measurements made earlier and feel with mat knife to cut out trap door.
Use carpet adhesive to attach carpet to door.

16



PLACEMENT OF BRICKWALL/CONTROL ROOM STAGE LEFT

if your cont.rol room is on stage left (Pasqually Stage), you will need to construct a
partial wall in order to hang the brick wall. This may be achieved by following these
instructions.

Stage view before partial wall

|
>

After partial wall

\/b
1. Take the 1" x 10’ and attach it towards the top of ceiling as pictured:

Top View

/

CONTROL ROOM

Wood to which
curtain track
is mounted

e=Screw directly
to wall




Attach the supports to the floor and 1" x 10’ with 2" drywall screws.

Back View

1" x 10’
~

Y-

F

.*—- 1x 86 1/2

JER
Control Room Door /

47—

Brackets screwed to floor
H and 1°x 8'

U 4

Screwed to Wall

Now attach the plywood panel to the supports.
1" x 10’

3 1/2° Drywall screws =

”

|

1
1

L1 11

1111

18



Now you are ready to hang the brick panels. Begin with the "SqU
top edge will butt up next to the 2 x 4' and the edge closest toqgeﬁfg{gm.] The
up with the corner of the wall. Attach with 2 drywall screws. will line

4.

SeU.

) |

\_/

S. Next install "LLY’S"

SRUALLY,

\—/4

6. Measure from the edge of "LLY’S" panel to the wall and remove excess material
with a utility knife and straight edge. Install blank panel.

U Liyy

~—

19



7. Install the "PA" panel to the partial wall.

3

\__)
Note: Try to stay flush with 2" x 4" at top but if brick lines do not match up, it may be
necessary to accommodate. Make sure brick lines match up.

8. Hot glue connecting bricks to hide seams between panels. The bricks which are

part of letters will be marked with corresponding identification.

/ \ '
EXAMPLE: b-2 _
=4t =

9. Screw grey 1" x 4" wide molding on top of 2' x 4* top plate, with seam in the

center. Trim to fit if necessary. Hot glue keystone over the seam, top edge
extending about 1 1/2" above top plate, if possible. Make sure 2" x 4" cannot
be seen. |If it is, use grey touch-up paint to hide.

Keystone

r_- Top molding
sw,&

Spray painted Gl

black inbetwee
bottom molding
pieces and bottom
of brick wall.

Bottom molding

FINAL BRICK WALL LOOK

20



6.
PA

Re-carpet top of pedestal using scraps from new stage carpet. (Remember

you'll have to re-bolt High Hat pedal).

Replace drum, cymbal, high hat, snare, and seat. Place light inside drum and

screw it onto bottom of drum.
Inside view of Dr

Light

Measure and place T.V. Camera mech then bolit down.

SQUALLY PEDESTAL

—_— e T LVGEJD AL
Start actaching

;::..:.:or base p Xail om top

and bottom .

Using black spray paint, paint the back wall under the bricks and between the
bottom molding.

PLACEMENT OF BASEBOARD

1.

Place the 5’ section of grey baseboard molding to the left of Pasqually’s base,
6 1/2" from the back wall and butted up against his platform. Screw into the
floor. Install the 8' section to the right of his platform in the same manner.

See Diagram A.
' Keystone)

il

MOLDING

\

— Space between wall and

Painted with black spray molding for floor lights.

paint.

COMPLETED BRICK WALL



BASS DRUM FRONT

1. Remove old drumskins from front and back. (Back drumskin is not used).

2. Replace front with new plexi design.

Attach so stars
are at top
right.

FLOOR LIGHTS

Place and secure with 1" drywall screws per diagram, 13 and 14 should be aimed up.

® © (ONQ)
ABEA CIRCUIT RESCRIPTION EQRMERLY
Pasqually Stage 12 Yellow idck drum Coach ight
13 Red floor Same
14 Blue floor Same
18 Red snare/Pasqually Campfire

HOOKING UP THE CHARACTERS
PASQUALLY

1. With the 2' hole saw, drill a hole for the airlines at the back of the pedestal.
Flush with bottom molding of brick wall, 5* from the back of the pedestal and
25" from the center line.

2 Plug in Billy Bob’s old control cable to Pasqually’s mech.

BACK WALL

I

”
Hole for .Pasq/udl_z_..Q-——-z 5
5

airlines. o

ANIT HAINAD

TV CAMERA

Hook up mac valve quick disconnect and control cable for the TV Camera. You should
use the old Looney’s airline hole for the Camera.

23



<:> PANTS - Back View
@ Pant leg should be outside of shoe

naps
P HEAD - Back View
Left shoe bolts to high hat e
pedal (secure w/wing nut).
elcro Right foam leg just fits
LEFT SHOE inco shoe.
Velcxo Attach hook velcro to bass drum
pedal and loop velcro to bottom
of shoe. Stick both together
to hold firmly.

RIGHT SHOE

MASK - (Make sure there is.no air to characters)

BACK VIEW
l. Turn mask inside out and connect eye snaps

Eyes—() REp Pull over back of head shell and snap.
2. Replace mouth plate velcro with that

@ VINYL UNDERGARMENT
ddle bar of d and connect mask to mouth plate.

head frame provide
naps -
elcro @ CHECKED SHIRT
Front View 43 / ‘ naps to
“'Iﬁ Wlll!l!i

aaps x ]
elcro Velcro
\
Front View

.Back View

SEEEEEED®

R

Snaps

-——xyVelcro

Back View

@scm

Front View Omg

1. Thread apron should straps
through loops on checked
shirt and snap together.

Back View

Ba

e-cut holes

Slide drumsticks through pr |
Bolts which

Washers
attach to
mech.
Hands fit over arm rod end

and bolt to mech. 24



COSMETIC APPLICATION

TV Camera

1.

2.

Remove skull shell, it will not be utilized in the new show.

Add Extension - Take off current extension clevis and attach new one supplied
in cosmetic package.

__OLD NEW
= ==
= L=y — 2" 1
Remove 4 bolts that hold Camera together at bottom. . S
Pull apart and place over mech. /— 8

Thread bolts through Looney plastic cover mounting holes. ,
Re-screw bottom of camera case together. / B g
Drill 3/16" hole through middle of eye mech to attach lens support L bracket.

Connect mask eye snaps to mech. Pull mask over outside of plastic shell and
velcro to secure. Check to see velcro connects mask to mouthplate.

ﬁé@

Put speaker box cover around outside.

The Speaker Box is a

3 sided prop which
fits together with
joints which interlock
in the two front
corners. LT )

5§

25



- e N N NN NN N NN

DIAGRAM B

Overlap 2"
= 22;‘00 :L )
—ofe : 772 o
T | B
n 1
 °4
' g\ ) 22,,_1_!‘%_22" —_t
33
’ 53%" . [fj
[65" 1 N / I

53“ 3 |
[] 45n
[j 57m *MUNCH I

HELEN T " l
| NEw” ] 3“"—2 .
| TRAP | JR :

N .
()] LDOOR | 1 |
ORGAN  *
" als 1
34 N 15'—
*Should be retuRged to their original position. ml
a
|
COLOR KEY &
A
BUILDING B - Green Windows o
BUILDING C - Yellow " :
BUILDING B ~ Orange "
BUILDING E - Purple " l SEETES Y = 1%
BUILDING F - Blue "

Munch’s Make Believe Band Center Stage

Measurements are guidelines, may need to be adapted for individual situations.



CENTER STAGE

Remove All Props: Beach Bear Surfboard - (Re-bolt mech back to base after surfboard
removal)
Trees
*Fatz Organ - (unbolt and unplug power and control card from
outlet in back wall).
Organ Front
Flowers
Backdrop
Clouds - (Touch up ceiling with white spray paint where clouds
used to be).
Antioch (Spider) - (Cut spider mech hoses at the fittings. The
hoses will be used later to connect the "wink". Use the mech for
spare parts on Building and Sun.
Dooks:
*Pedestal - (rip off tree skirt)
*High Hat
*Pedestal Spot Lights (2)
*Cymbal
*Base Drum
*Snare Drum
*Seat
*Pedal For High Hat
*Base Pedal
*Floor Lights

REMOVE ALL CHARACTERS FROM STAGE

Fatz, Beach Bear, Mitzi

Disconnect the quick disconnect to all characters: (See quick disconnect procedures
in Stage Left section page 14).

Spider, Sun, Moon

Unhook air lines from mechs, unbolt and remove from stage. You may want to lay
mechs on old carpet or canvas so oil doesn't ruin showroom carpet.

RAF SIGN

1. Unplug power cord, and computer cable, unbolt from floor and remove from

stage.
2. Unscrew RAF Explosion plexiglass sign front from light panel and destroy.
(See destruction procedures on page 1).

*Will be utilized on new stage, all other items should be destroyed. (See Destruction
Procedures page 11.

27



SEZ%T\ETE%;{ m\[() ggmen STAGE CARPET, MEASURE PLACEMENT FOR NEW
HOLES THROUGH E BOLTS WILL
SECURE MECHS. (SEE DIAGRAN ) STAGE FLOOR WHER

TRAP DOORS

1. Establish center line:

BACK WALL

»
NED
o

\
HNFG

—_— e e e

2. Measure the distance between A and B, divide by 2 to get exact center.

3. Mark center line with masking tape. Decide which side of the tape is center and

consistently use that for measuring.

4, Extend center line up back wall approximately 5".

8. Mark and cut new trap door 6" in front of Mitzi's foot mech placement. See

Diagram B page 22.

6. Avoid crossbeams underneath stage and don’t cut under Munch Jr.
7 Cut and secure to stud a 2' x 4" long enough to give front of door support.
8. Hinge door to stage. (May use billy bob trap door hinge if in good condition).

9. All other trap doors will remain the same.

28



CARPETING PROCEDURES

Before you lay carpet you may want to measure and .record where trap doors arg gq
when you have to cut the carpet out for them they will be easier to find,

1. Lay carpet lengthwise and cut as diagram shows:

BACK WALL Match seam to Stage Left

\

3. Staple carpet to stage floor around front of stage every inch or two with heavy
duty staple gun.

2. Use scrap to piece in.

4. Poke with knife to find where trap doors are, cut out and use carpet adhesive
to attach carpet to door (like Pasqually’s).

PLACEMENT OF BACKDROP CHARACTERS AND PROPS

Fiber-Optic Curtain

While the stage is free from mechs and props, install the fiber-optic curtain. Velcro will

be included in the box.  Attach the hook velcro to the wooden 2" x 4’ at top of stage
with staples.

X XY XX rw YW IR wwrTn Staple and velcro at top.

Fiber cord ' ﬂ

After attaching velcro you are now ready to hang the curtain. Line up the velcro on the
curtain to the velcro on the 2" x 4’ and stick together. Staple every 2" - 3" over top of
curtain to secure. The fiber cord should be at the center of the stage as shown.

Touch up back wall with black Spray paint any areas which fiber-optic curtain does not
conceal.

29



Placement of Backdrop, Characters, and Props (Cont.)

1. Now you will measure according to diagram B, the placement of props ang
character mechs from the back wall and center line. Mark each measurement
with masking tape. On top of the carpet designate which edge of the tape is
the center and consistently use it for measurements.

Now that you have marked out the new placements with tape, secure them to the stage
in the following order as pictured in diagram B.

1. Building D and Fiber-Optic controller

with sheetrock screws

Building E with sheetrock screws Fiberoptic

Building C with sheetrock screws 4 C°“"°L‘l“
t

Sun Mech with bolts Thread fiber tub end| to

thry Ope
Moon Mech with bolts hole ax;;l connect |to ‘% left] side)
Building F with sheetrock screws <" o
Suilding B BUILDING D
Munch’s Make Believe Band Sign Stand
Flood Lights -

1. Detach sockets from plywood and attach through screw
holes on base of light.

2. Cords will go through precut holes in buildings.
10. Planter A with sheetrock screws
11. Planter G with sheetrock screws
12. Jasper with bolts
13. Munch with bolts
14. Helen with bolts
15. Organ with bolts

16. Jasper Pedestal - place over Jasper stand and screw together at sides
17. Munch Jr. Tube - place over Munch Jr

CONOOO AN

Note: You will need one person to tighten bolts for characters under stage and one
to tighten bolts on top of stage.



R

1.

ECONNECT AIR

Once characters are in place, reattach mac valve quick connect.
Mitzi to Helen (use Dook’s old computer cable)

Fatz to Munch

Beach Bear to Jasper

Disconnect air hoses that formerly went to Looney Birds hand, connecteq to
valve #6 of the prop valve bank.

Install plugs in both ports on mac valve #6 so there are no air leaks.

Reconnect airlines to Moon, Sun (Building), and Choo Choo (Munch Jr.)

air port plugs

air ports

31



Change lights according to the following diagram:

"W'" (White) - Qty: 14 - Outer Circle, "O"

(Orange) - Qty: 11 - Middle Circle,

"R" (Red) - Qty: 12 - Inner Circle

Make sure store has extra
lights are switched from th
in the fire).

Remove old piano hin
diagram.
Munch's Make Believe

\%‘C

Sign Base —J

32

sign bulbs available since the red and amber
e RAF sign. (You may use the lights that were

ge from top of sign base and attach sign according to

Band Sign

Bracket

Top of Sign Base

SIDE VIEW



Lo BN BN B A |

COSMETIC APPLICATION

EYELIDS

e

Remove and spray paint
Fatz eyelids orange-Ace
#17016. After they are
ry you then use

them as Munch
eyelids.

Attach new-velcro supplied by
Diversified Designs to mouth

Place tube over character with
plate. (Self Adhesive Back)

Painted vents in front. Secure
to floor by attaching "L"
brackets to the inside
of the tube and secure
to the floor.

<::)BODY/ARM FUR- Attach according to

(::)HARDS = Bolt on hands and snap
on forearm fur as shown

° (Be sure to use washers)
Reuse bolts from Fatz
handst

Forearm fur snaps attach

@ SHOES - (Green and White)
)

—

Bolt here to tap mech
on left foot.




EYES - Re-adjust skull by loosening o

the nuts on each side, then exchange

s blue eyes with Chuck E.

Cheese's brown eyes.

Pull the mask down over skull, mark

with pen where hat holes are cut in

fur.

Velcro

@ MASK-
—— Remove mask and drill holes for threaded
rods which will hold hat on.

Attach nut on inside and pull tight
throuch holes behind ears on mask fur.

Guide threaded rods ghrough holes in hat
and secure with bolts on the outside.

Snap hat band around hat.

Velcro back of mask.

Attach new velcro supplied by

Diversified Designs to mouth plate.
(Self Adhesive back)

Add Extension- Take off current
extension clevis and attach new

one supplied.

QLD

=
R -\
f— ]

Front View

Hole for guitar
attachment

<:> Reattach guitar strap.

Velcro

@ SHOES (Red and White)

5

(Right and Left are the sSame)

34

@

oles for hat threaded rods

BACK VIEW
Hat

‘Nut
e Skull

Threaded,
Rods

Hatband

Use existing bolt holes in hands
to attach new hands.

Hands has new hand shell attached.

@ PANTS/SUSPENDERS

Suspenders
Clip on

Thread suspenders through
loops in shirt and attach
to pants with clips at end
and adjust for length if
necessary.



— e N 0O O S

Pig Tail Holes

@_MA_SE
s@

S

Front View

Back

Attach new velcro supplied by
Diversified Designs to mouth
plate. (Self adhesive back)

Velcro Y <
=

3.) SHIRT/ARMS

Velcro down back

llllﬁnll.-' ‘Band goes over
Velcro the top of skirt
Front View

Back View

@ FEATHER HAIR

A A =
Snap on to )
ear mounts

Attach hair ornaments
next to head.

Bolt to mech

here% f

Back View

I P B UG B
¥ .

Make sure you have the
velcro attached in
back.

(:) SHOES (Lavender and White)

-
B

R
| =

n o ’ Back View

Velcro



WINK

—_———

1. Center over Center Stage over valance, lift ceiling tile and screw bracket to top
of wood of valance board.

FRONT VIEW

el '\Screw bracket to wood
"Wink" ;
Valance Wood

| BACK VIEW

2. Hook up airline connectors to Spiders airline, (arrows on the flow controls are
pointed to mac valve) tie off airlines. This will prevent the flow controls from
sagging down into guests view.

ENLARGED DiAGRAM OF CYLINDER
AND AIR LINE HOOK UPS.

e, Reducer

=
Cylinder— Airlines
Flow Controls

Air Ports 1

Plug up the "B" port of the mac valve (bottom hole), and the airline should be attached
to the "A" port of the mac valve (top hole).

36



2>

DIAGRAM (C

N

3.
- —ﬁ?ttonﬁff'} a8l

star poinf
(]

50" MONITOR

Chuck E. Cheese Stage Right
Measurements are guidelines, may need to be adapted for individual situations.

SCALE: %" = 1°



_s =S == = =B =

e -} Q] et——

STAGE RIGHT

After center and left stage are completed you may begin to convert stage right to the
Chuck E. Cheese stage. It cannot be stressed enough that when conversion is done
on this stage, it must be completed and entire show p.m.'d and running that morning
for business.

REMOVAL OF MECH AND STAGE PROPS

1. Disconnect Rolfe’'s quick disconnect (see instructions detailed in Stage Left
section page ).
2. Remove mech and props from stage: *Rolfe Mech, Applause Sign, Rainbow,

Rain Curtains, Cymbal, Stand, *Curtain Motor, *Floor Lights.

NOTE: DO NOT REMOVE COSMETICS. IF YOU DON'T COMPLETE INSTALLATION

TONIGHT, YOU'LL NEED TO RUN ROLFE & EARLE SHOW DURING BUSINESS
HOURS.

CARPET PROCEDURES

1. Pull up old carpet and clean stage floor from debris.

2. Mark center line on top of carpet with masking tape. Please calculate the center
line in the following manner. The distance between A and B divided by 2.
Designate which edge of the tape is the center and use that edge for each

measurement. '
L BACK WALL
Ay 2
3
]
3. Lay carpet lengthwise and cut as shown:
Control Room Stage Right Control Room Stage Left

Match to center stage seam

4. Measure where trap doors are from center line so they will be easier to find and
cut out once carpet is laid.

5. Staple carpet to stage floor around front of stage every inch or 2" with heavy
duty staple gun.

6. Poke with knife to find where trap doors are, cut out and use carpet adhesive
to attach the carpet to the door.

*will be utilized in new show



e . . . & & A& AN

— | ——— [ o]

CHARACTER/PROP_PLACEMENT

1 Mark center line on top of carpet with masking tape.

2 Remount Chuck E. Cheese mech to stage. (See Diagram C for measurements),
ff you think you will complete installation you may remove Rolfe & Earle
cosmetics and proceed with Chuck E. Cheese cosmetics).

3. Using 2" hole saw, drill hole at back of mech in behind the left leg through
carpet and stage for airlines.

CHUCK E. CHEESE BASE - Fit around bottom of Chuck E. leg shafts

Top View D D Leg Shaft

—Base

Backdrop (black rain_curtain)

Staple rain curtain to 2" x 4 on back wall of stage so the bottom barely touches the
floor. There will be two rows of 5 ea. (one on top of the other). Touch up staples or
white trim (if applicable), and any areas the curtain does not conceal with flat black
Spray paint.

STAR

The star comes in 3 separate pieces:
l ’ l I Back , ,
A. B.

. Attach A to C with drywall screws from
front to back.

Attach as follows:

3. Back of B attaches to
stage wall with
drywall
sScrevs

. Attach B to C with drywall
Screvs. B is placed Just
under top support.

Screws go through

top of support and
into B.

Outlet Strip

Top Support

4, Install blue lights (100W indoor/outdoor floods) to back of star prior to mounting

star to stage. See lighting diagrams sections.

5. Mount to stage according to placement measurements in Diagram C.

39



e L R |

CONVERSION _ TO 50" MONITOR

The SDP5043K 50" television in your Concept Unification show has had an additiona]
molding strip added at the bottom which changes the dimensions and how it fits into the

Juke box prop. The following steps will tell you how to remove the molding so the

L

VIEW FROM BOTTOM OF TELEVISION

television fitg properly in the juke box prop.

/1/4' Balt (5) ]

Molding — /= (

V4" Boit (4)

Remove prop from around 50" television and lay it down so the screen is facing
up (mark with masking tape the exact place to return it to).

Loosen and remove thell4'boltsthatarepictured above,

necessary to completely remove it
There are also 56 wood staples that will need to be removed.

Once steps 24 are completed you may set the television back in it's correct
position and placement.

Place the prop back around it and make sure it is connected back to the show.

The screen should now be flush with the front of the prop.



. S . -

JUKEBOX/50" PIONEER MONITOR

1.

2.
3.

Remove casters from bottom of monitor.

Place 50" monitor according to diagram.

Slide jukebox cover around.

Set top piece on,

Unscrew and open back to screw in 150 watt light bulb, then close back up.
Plug TV into live outlet.

Use the 75’ video cable provided with the kit to connect the video output #1 of
the A/V switcher to the video #1 input of the 50" monitor.

Turn power on to the T.V., then using the remote control set the T.V. on
video 1.

Front View

Side View

Top Piece

<M

onitor

Juke Box Prop



MECHANICAL ARM INSTALLATION

1. Remove 2 - 1/4" boits on right arm.

2 Tap off old arm with rubber mallet,
(with Earle attached).

3. Remove air cylinder on old upper arm.

4. Block off Earle head tilt cylinder air lines, mouth cylinder airlines and eyebrow
cylinder airline with 1/4" and 1/8" splicer plugs.

Earle head tilt :ED::I:H
airline s_/‘ Splicer Plug}

5. Install new arm with rubber mallet back up into position and rebolt with 2 - 1/4"
bolts from old arm.

6. Reattach old upper arm cylinder and reconnect air lines.

FRONT VIEW

°
—

Note: When Chuck E. Cheese is aired up, right arm twist cylinder has to be at a 135
degree angle to his shoulder.

41



(1) mask @% @ ras

Front View (///"———~\\‘
Suspenders

Snaps to suspenders (Cross in back)

<:> DERBY Snaps
Back View Velcro
Side View
(Snaps On)

Add new velc

: ro (provided Y
by D1versified) to mouth- &
plate. gelf adhesive back. e

elcro

HANDS - Left one has cane

Cane

@FEET - Need to sit on top

of triangular
base.

Back View

Front View ,
Add new 4" dia. duct hose to
right arm to protect jacket
from getting caught and protect
it grease.




HELICOPTER LIGHT

The helicopter light attaches to the spotlight bar in the middle of the showroom.

1. Remove spotlight #7. _ /_\ 5
910)90)108)o)e

2 Loosen and move spots #5 and #6 approximately 5" towards spot #8, then
secure.

3. Now you have created a new space for the helicopter light.
L —

Seo) B
4. Using the spring bolt from spotlight #7, slip it through the center hole in the

helicopter light base and secure in the middle of the light track. If light base is

too thin, use washers to compensate. ° °
(o) Helicopter Base

o o Plate

8. Slip the safety cable from spotlight #7 over the base, and oscilléting light.

6. Now secure the oscillating light to the four corners of the base with four bolts.

7. Plug into spotlight #7 outlet. #5 by /D
ADJUST SPOTLIGHTS - (See lighting diagrams section).

COMPUTER ROOM

1 Make sure that the power to the computer is off.

2 Remove Dook’s computer cable from the top drawer and plug into Mitzi's
connector in the bottom drawer.

3. Remove Billy Bob’s computer cable from the bottom drawer and plug into Dook’s
connector in the top drawer.

4, Remove the top of the Triad Computer.

5. Locate the EPROM (U2).



6. Remove the old EPROM and install the new 3.3 EPROM. (Keep the old EPROM
as a spare).

% Put the cover back on the Triad computer.

8. Power up the computer. The display should read: CYBERSTAR 3.3
(c) 1989 TRIAD

NEON SIGN

The neon "Chuck E. Cheese" sign will be installed through Heath Sign Co. Please call
1 800/527-9495 approximately 5 days in advance to set up an installation date. A
contractor in your area will come out on that scheduled date. Please make sure he
hangs the sign in the following manner. Point B is 11" above point A.

.r T T YT oA B .
n . M
Measure 14" from
middle of brace /\ e M ((M
on back of star. —
Wi Measure 66%" from floor
J to bottom of sign.
FINAL STEP :
1. Drop the top pressure of the dual pressure down to 70 PSI.
2. Run the diagnostic tape and adjust the flow controls to the characters.
3. Play the new showtape.
4, Return the unused Rolfe and Earle showtape within 10 days of completion for

$25.00 credit.

The Entertainment Department
SHOWBIZ PIZzA TIME, INC.
4441 W Airport Freeway
Irving, TX 75062

We'd love to see them. Please keep us updated on customer reaction, show/cosmetic
quality and appearance. To follow you will find warranty, flameproofing, and UL Listing
information. This has been compiled in the manual for your convenience so you may
want to set up a file for it.

Thanks again, and enjoy the show!



Bit #81 Top

o Bit 186 Top

Bit #85 Top

Bit #90

Bottom
SPOT LIGHTS Bit #84 Top
i)

aa Bit #83 Top
New Position Eormerty i 6 i
CEC spot (bit #88/top) Rolfe spot (up)
Mmd\w Fatz spot
Jasper 3 Beach Bear spot
Pasqually spot Billy Bob spot ‘
TV Camera Looney Bird spot —
Helicopter lights (bit #87/t0p) Rotfe spot (down) —:i@
Guitar (r )]
Munch Jr. spot Spoder spot
Wink 8pot *re-position fixture Mitzi spot



e [N—— R} e o e—— =

AREA CIRCUIT DESCRIPTION FORMERLY
Center Stage 4 Green - B,C,E,F Blue behind backdrop
° 5 Yellow - C,E Amber backdrop
6 Red - C,E Blue backdrop
7 Blue - B,C,E,F Red backdrop
8 Red - B,C.EF Blue backdrop
9 Red - B,D,F Green bushes
10 Blue - C,D,E Amber bushes
11 Fiber Optic Curtain Drums
— L FTINFR OPTIC CLRTATY J
L D I |
o O
o ST
6"3" s" 8"3" 6" 6" All 6"3"8" 8" 3"6"
Measurements are distance between fioor lights. Aim them straight up.
Buildings are identified by letters B - F from stage right (Helen'’s side)
to stage left (Jasper's side)
AREA CIRCUIT DESCRIPTION FORMERLY
Pasqually Stage 12 Yellow kick drum Coach light

13 Red floor Same
Blue floor Same

Red snare/Pasqually Campfire

® 6




AREA IRCUIT DESCRIPTION FORMERLY

CEC Stage 1 Neon CEC Red floor
*2 Blue star tip/juke box ~ Amber fioor
3 Starburst Applause

*Single fixtures are attached to the back side of each star tip and plugged into
a power strip which is also mounted on the back side of the star. The power

strip and strobe for the juke box are plugged into the #2 circuit outlet on their
respective sides of the stage.

47



ZELLER INTERNATIONAL

MAIN STREET, BOX Z, DOWNSVILLE, NY 13755 PHONE: 607-363-7792
NYC OFFICE: 212-627.7676  NY STATE: 1-800-722-USFX  FAX: 607-363-2071  TELEX: MTV 646-263

CITY OF NEW YORK )
STATE OF NEW YORK ) SS
COUNTY OF NEW YORK )

FLAMEPROOFING AFFIDAVIT

We, the undersigned, being duly sworn, depose and say that we are in business at Main Street,

Downsvile, NY 13755. ZELLER INTERNATIONAL manufactures flameproofing agents for topical

and in situ applications. We custom treat soft goods, plastics and foliage with acceptable fire

Betamm as approved by The Board of Standards and Appeals, MEA Section and NYC Fire
ep ent.

All Custom Fiberglass has applied the flameproofing agents on

One (1) set of costumes for animated show figures treated with Flameaway Retardent

Type i, meeting NFPA 701 and UL Class I specifications

Its period of effectiveness, as stated by the aforementioned Board, is for one year from the date
of treatment. '

Supervisor - GARY ZELLER

Certificate of Fitness Holder #NYCFD for Flameproofing Applications #60653300
Member NFPA, National Fire Protection Association #A00732870000

Member Society of Plastic Engigeers #PSM000095551
.
Signe

Sworn and subscribed to /
before me this ¢

day of Jwember . 1982

NOTARY PUSLIC; STATE OF FLORIDA AT LARGE
MY COMMISSION DXPIRES OCTOBER 26, 1993

BONDED THIU 1J . BBERTY & ASSOCIATES
: Notaryéublic

' COSMETICS
48 DIVERSIFIED

(Corporate Seal)




[A)

VA AW ST S0 s + s Dbt @ @ = & Tt} e 0 mvme s - n o ..

A WL W

. e

SCREENKO/PRINT i

m

CABIN

L No.

CRAFTS

Sep.21,90 11:23 7.0l

i J404 10341919

CARPETS DATE: 09/17/90

SPECIFICATION DATA

- Style Name:
Style Number:
Description;
Fiber Content;
Tufted Yarn Waight:
Tufted Pile Height:
Finished Pile Thickness:
Gauge:
Stitches Per Inch:
Primary Backing:
Secondary Backing:
Total Weight:
Density;
Weight Density;
Stock Colors:
Applications:
RESIDENTIAL
Special Features:

UP START I1I

A3257

NYLON CUT FPILE

1007 AUTOCLAVE STAPLE
25.0 028./8Q@. YD.

« 831 inch .
«S00 inch

3/16

S.5

POLYPROPYLENE
POLYPROPYLENE

S7.0 02s8./8Q. YD.
1800 0ZS./CUBIC YD.
45, 000 N
21 CONTINUOUS DYED

PRODUCT DATA

Flammability:
Pill Test:

(Doc FF1-70) PASS

Radiant Panel! (Direct Glue):

ASTM E-648:
NBS Smoke Density:

CLASS I

(RSTM E-€€£2)

Flaming Mode: <450 At 4 Minutes: <430
Non Flaming Mode: <480 At 4 Minutes: <40
Static:
AATCC=1341 <3. 8KV
Type Static Control:
TOPICAL "
Electrical Resistance: (NFPA SgA)
Burroughs Method: N/7A
IBM Method: N/A
FHA Data UM44D: MEAR 7349¢
Type: IF
Class: 1
Uarrantyap g '
Fiber Producer:
Shaws . CARPET
Other:

NATIONWIDE

P.22



“-
g

e

~

lU/LT. gy

P

Texas Tech University

International Center for Textile Research and Development

P.O. Box 5888/ Lubbock, Texas 79417/ (806) 747-3790

October 30, 1989

Mr. Felton Norris
Executive Vice President
Snap—Drape. Inc.

3400 Wiley Pecst Road
Carrallton, Texas 75006

Dear Mr. Norris:

This is in reference to your Purchase Order No. 002767 of October 20,
1989 for performing the NFPA Small Scale Flammability Test on Six fabric
Samples, each jdentified with a pinticket.

A fabric referred to as "White Marquis" was tested as received
according to the procedure described under NFPA 701 Small Scale Test at the
International Center for Textile Research and Development of Texas Tech
University at Lubbock, Texas on October 25, 1989. The fabric referred to
above passed the NFPA Small Scale Test. The results of the test are gliven
in the attached table.

"

Very truly yours,

RS A

R. D. Menhta, Ph.D.

Manager, Finishes Research
International Center fer

Textile Research and Development

Enclosure

co: Peggy Dyass 16!62

VALANCE
SNAP DRAPE

50

Telex: 20006 PRPRETTITEMR-E2053542/ FAX 806-747.3796

“An Equal Opportunity/ Affirmative Action Institution”

; (VIO IS ERVIY IS
EARRR T2l 208 Lusu SNAP DRAPE 4 *



LUu- L/ YU ug:sd Ol 299 Loy SNAY DRAPE

< Uyyg .
Uy,
/

- s =

NFPA 701 Small Scale Test for Suap Drape, Tac. Fabrics

\

. ction Char Lgth Av.Char After F1
' Description CSJ: p;Z. Dire Inches Lgth. Ia. Time Se:“ ‘;:;‘:E; Remarks
White Twill  6.57 Warp %= 0 e
Warp 4 0 ¢
wSz'p 4. 2 0
Wa s 0
w‘g 4.5 0
Filling 4.5 0
Filling 4.6 0
' Filling 2.7 . 0
Filling 4.3 0
Filling 3 4.1 0
' White Satin 4.34 Wazp 4.2 0
Wazp 5.7 Passed
Warp 5.5 0
I Warp 5.5 0
Warp sl 0
Filling 4.4 0
[ Filling 4.8 0
Fill4ing 4.2 | 0
Filling 4.8 0
' Filling 5.1 4.8 0
White Sequel 5.16 Warp 4.3 0 Passed
Wazp 4.8 0
' Warp 4.7 -0
warp 4.8 0
Watzp S.4 0 -
Filling 4.9 0
- Filling 4.6 0
Filling 3.9 0
Filling 4.6 0
Filling 3.6 4.6 (o]
White Marquts 7.28 Warp 4 0 Passed
Warp 4.3 0
Warp 5.2 0
Warp 4.7 0
[ Watp 4.7 0
Filling 3.9 0
Filling 2.9 0
3 Filling 4.6 0
F{lling 4.2 0
Filling 6.2 4.7 0




OFFICE OF THE USTING EXPIRES:
J
CALIFORNIA 1697

STATE FIRE MARSHAL T-1409.

Listing No. 2280-1182:100
(Rev 8/90)

COATINGS~=~FIRE-RETARDANT

Listee---Nochar Incorporated, P.0. Box 53171, Indianapolis, 1IN
46253-8171.

Design---Fire Retardant coating materials: Nochar's fire preventer
clear liquid fire retardant.

Classification: Class B

Flame Spread: 55

Smoke Density: S5

Application Method: Spray applied with pump-up sprayer
Application Rata: 300 square faeet per gallon applied in ocne

centinuous application.

Application---Intended for indoor use on tongue and groove Douglas

Fir woocd surface. Not approved for use on painted or sealed
surface.

Marking---Listee's name, product designation and State Fire Marshal
label on each container.

Approval---Approved for indoor use on tongue and groove Douglas Fir
wood surface.

A CSFM Report is not 10 be construed as representing aesthetcs or any other atributes
not specificaily addressed nor &3 an endorsement or recommendason for use of the
subject report

This report is based upon indspendent tests or other technical data submitted by the
applicant. The CSFM Technical Staft ..as reviewed the test results and/or cther data,
but does not possess test lacilities to make an indspendent verificagon.

This will certify that the above complies with the provisions of Title 19, California
Administrative Code in effect on the date of Issuance

Date Issued: '57=

BL-7 (REV. 10/87) CORMANS 52

STATE FIRE AL



Approval # 890063-0

Safety & Buildings Division
201 E. Washington Ave.

P.0. Box 7969

Madison, WI. 53707

Wisconsin
Building Material Approval

Material Fire Preventer Fire-Retardant Solution

Nochar, Incorporated
8101 Crawfordsville Road
P.0. Box S317
Indianapolis, Indiana 46253

Manufacturer

APPROVAL

The Fire Preventer fire-retardant solution manufactured by Nochar, Inc., has
been evaluated for conformance to the 1986/1987 edition of the Wisconsin
Administrative Building and Heating, Ventilating and Alr Conditioning Code,
chapters ILHR S0 to 64. Is approved for use

in the State of Wisconsin
subject to the 1imitations angd specifications described in this approval.



OILHR Material Approval No. 890063-0
Page 2

LIMITATIONS OF APPROVAL

The Fire Preventer fire-retardant solution has been tested and is approved on
bedding straw, computer bond paper, spruce wood, Lauan plywood, pine shakes,
and Douglas fir flooring for the following interior finish classifications:

Flamespread Smoke Interior

Materia) —Rating Density | n
Bedding Straw 10 165 A
Computer Bond Paper 10 0 A
Spruce Wood 45 S0 8
Lavan Plywood 70 125 B
Pine Shakes 58 785 8
Douglas Fir Flooring 75 40 B

The fire retardant shall be applied in accordance with the manufacturer's
instructions.
The fire retardant is a

Pproved for interior use and will last as long
not exposed to water.

as 1t is

This approval number must be provided when building plans showing the use of
this material are submitted for review. :

This approval is valid through December 31, 1994, unless manufacturing
modifications are made to the product or a re-examination is deemed necessary
by the department.

DESCRIPTION AND USE OF MATERIAL

Nochar's "Fire Preventer® is a wafcr soluble fire retardant that works on any
unsealed natural fibered material sych as wood,

Paper, cotton, wool, siik,
leather, straw, coal, charcoal, and cork. 1

t 1s colorless, odorless,
nontoxic, biodegradabile, nonskln-irritating and noneye-irritating. The fire
retardant will raise the combustion temperature of treated natural fiber above
that of material in its natural untreated state. Should a fire start from
other fuel sources, the fire

retardant will siow the progress of the flame on
the materials that have been Properly treated with the product.

Nochar's "Fire Preventer" Cannot be used on any painted, sealed or manmade

materials. It is'not a coating, 1t 1s an absorbent which must penetrate the
surface of the product or assembly being treated.

54



DILHR Material Approval No. 890063-0
Page 3

IEST RESULTS

Tests were conducted in accordance with ASTM EB4 by the Har
Manufacturers Association and the U.S. Testing Company, Inc
bedding straw were also conducted by the HPMA in accordance with ASTM Egdg,

Test for Critical Radiant Flux of Floor Covering Systems Using a Radiant Heat

Source. Oral, dermal, skin, and eye toxicity tests were conducted by
Northview Pacific Laboratories, Inc.

RISCLAIMER

The department is in no way endorsing or advertising this material.

dwood P1ywood
- Tests of the

Approval Date: Comomss P A% gy: —_@ p oy

Ronald Lewis Buchholz, brchitect
Assistant Director
Office of Division Codes and Application

RA:jem:3038h

55



H.P.M.A. = nardwood Plywood Manufacturers Association

TESTS AND RESULTS

LABORATORY TYPE : TEST NUMBER MATERIAL TESTED RESULT
H.P.M.A, ASTM E-84 - . T-6601 Bedding Straw . Passed class A
H.P.M.A. ASTM E-648 _ FRP-302 Bedding Straw Passed 1.0
H.P.M.A, ASTM E-84 T-6769 Spruce 2"x4° Passed class B
H.P.M.A. ASTM E-84 T-6806 3/8 Lauan Plywood . Passed class B
H.P.M.A, i ASTM E-84 ' T-6767 Southern Pine Plywood Passed class C
H.P.M.A, ASTM E-84 . T-6805 3/4 Red Oak Lumber Passed class C
H.P.M.A, ASTM E-84 9 : ’ T-7259 20 1b. Computer Bond Paper Passed class A
H.P.M.A, ASTM E-84 f ) T-7187 1/2® Pine Shakes : . Passed class B
U.S. Testing Labs ASTM E-84 ’ : 178375 3/4 pouglas Fir Flooring Passed class B

------- Motor Vehicle Safety Standard DOT. NO. 302 Cotton & Poly Blend Curtains Passed

.

TOXICITY TEST |
Laboratory: Northview Pacific Laboratories, Inc..
Type of TesL; Oral, Dermal, Skin, Eye toxicily test

TesL Report Number:; X5J056G
Resull: Passed; pro uct satisfied the requirements of Lhe EPA, FIFRA guidelines, Pesticide Assessment guidelines,

Subsection F
Hazard Evaluation: Human and Domestic animals; 40 CFR; Part 158, October 1982.




.'—f- - -
L i :
$ % '
A% _ 3% ra )

s . DAZIAN INC. 423 West 6b6th Street New York, N.Y. 10019

o Affidavit of Flamepronfing
\
. :; " STATE OF NEW YORK ss:
TR COUNTY OF NEW YORK
; 1, Delois Smith being duly sworn depose and say

o r that | reside at Dallas, Texas

STATE OF NEW YORK, and that the following material which we

" \f SOLD TO: Fiber Tech
10 Hardy Dr., Sparks, Nevada 89431
: FOR USE BY (AT):

Standards and Appeals of the City of New York.

DATE INVOICE No. MATERIAL
9-5-90 114802 yds. Supercote
Black

/&N’TO ELORE ME THIS

57

was treated with flameproofing compounds as approved by the Board of

CALENDAR No.

1177-65-24 - Nyc 12 |

Flamex CLS 160
Reg.{C63

e 7

"‘ v

“eS
,’:’ 5,
| = .

e
31

ST

E=eE N

s

& %4’ ‘ f gy

e

-

: ?:B'_
U
NG

(]
B 322
%,

At rneiie.
g *,fs
<

~

|
*1\\'-"2 ‘ b P8
O T Ty

S

. w ‘* D .
FIBEROPTIC CURTAIN &~ "<&




UL Listings for all
Electrical Components

for Chuck E., Cheese Stage



Transformer for ncon sign

: : umMiNQUS TUBE
Allanson soppliR

Qiviaian at Jannock Limted

s ESN R v R
EEEEN BRI v Ol e |
@' SEC. MID-PAINT GROUNDED
LU CENTRE OF L ENRQULCMENT m
' HAUTE TENSIONMISALA 'EHHI’:.

14{3 CAT . '
Nd. N

MAQE IN CANADA. A 71-‘:!]‘ [

[

cwe wm-meme memens

Used to protect all clectrical connections

10315 Paga ingueurial Bive.

: St Louis. Miysoun 631132
e = Teleohune: (314) 4284187
- RUDED PRQDUCTS DIVISION Telox. 4142884 Sinclarush Su

GPF-135 | | . | | ‘Cl‘mi:l.' JN-:2.6.4".?45

BT Y | LT
-~

‘@i bioma }.J .;i.s._J. y

SHRINK-LOC* GPF.13s;
general purnose, fie iy, :.l. \ GPF-135 Type 1 13 flame retarded Foruse n areas where a low cast,

Shinkahi and is sloeked in black and llsme retarded H

wih a bal:m(:m:::::::::mw 28s0rted colors. Type 2, Clear,is  Tubing 1s .'.:u".r.;.'igfé":.fz

requircd lor most nwhiary, not tlama relarded inchide wire Bundling, narnessing
U nrustoal, ana goneral puthuse and sirass reliel.

3pplcations

Applicadle Stpecificationsg

MIL-1-23083/8 ‘

Eits s

NAEA NS 59 acn 3837

A,‘E“E MSFC-27¢8 Class | Class 2

CSA 128 ¢ 1308

LR-372065



? OEM POWER SUPPLY CORDS
' AND CORD SWITCHES

o 7-1--»-!' (X AH]

’3- Srended, sleerrigal. urdo coppes. :oadunm
.Mddod-ol'l male plogn - RO 5 B RTD IR O
BOEREtV I OL I rh'ﬁ}:& (,y.n_‘_\l":&;u..a.wghk

" -

MMy bne saRHMIT wnan ey digh HIAW-OUW CORDS [y
Jdoemss . . 1 ) p
i s Trie Amse GtV fees . - ea ”ﬁfu Cue e

T~

4
luk 2’0823
weas
4 1 z%ll
8/ Mii
38 ws24
i / we
143 we
weils -
i ]
woss -

L_m; LAMPHOLDER -

'CONCEALED mmNAu
SeWwW 233y

e 'y tee=t V841 2. HNBUHE0D Woxz




Connectors for transformer to GTO cable to
ncon and ground wires

FULLY INSULATED TERMINALS - .'.

. R R e T T o
“Quick-Slide” mule and femosle termiasis pro- ;...,l-’*".l'&‘?‘_ B
vide relinble connection, resists corrosion snd %= ] Q- S )
arcing whilo impruving cona?eunu. Funne >y (Y -
barrel allows easy rnscruion of wire. Cantere )

male blade wilows revarsible entry: female con-
nector hay corrugated barrel. UL Listed, CSA
certitied. Deyton brand.

—_——

$ra.i:

ST IMORDERING DATA'

X 7}

Wire Ted Tad Qwvs " [TYTY] FYYTY

Key Tysa Gavge Width  Thichastt  Laagih  Des Sl Ne. Ust taeh \ars Wi,

A female =18 Q20 Q0 100 $X024 30 51082 MW S a3

___A__ femsin__ 1&I4_ 0% 0030 g 100 Tt ‘{ 103 1062 esa/ 8 03
X Fomeie™ 1210 —— O T LN TR T

[ ] Mele 218 0250 0.030 ;3 1 U l.t.“ 1103 931 8 a¢
B Mele 1814 0% QoW 0 sum Je4 _1nea _aaws a4 |
TR T Male T {210 T 030 AW TTTIOT0S T Y TIMS T 06 T TN T R A1e T W=

GTO (Power) cable from transformer to necon

- e
se TS
P

& &
e  weo

GAS TUBE SIGN AND
IGNITION CABLE

.°.‘:-. ¢

-pr.-
PN E
a1




FIBERTECH - FIBEROPTIC CURTAIN:

Motors - Hansen Manufacturing Co.

Yellow Cards - UL Listing

Drive Device System - 120V 60 Cy Pulls % AMP
50W %V Bulb

XHNR2 July 17, 1986
Component - Time-Indicating and Recording Appllances

HANSEN MEQ CO INC ° : £14091
%03 8 FIRST &1 BRINCETON IN 47670 %

m Owrs.
Singiecen moter Nas. §10, $20, $30, 840, 880, 880, 910+, §204. 830+, 0404+, 8424,
“.'SMM. - “°:.a.‘&»2.‘.'f‘.2.‘3¢ Meqs
M " )y .
23084 molar Ne. 130,

moewr
oMmmMnnh'W 8ndem o7 reversible unit, two meximum.
Mariing: emnmumuunmwm

See Genera! Information Preceding These Recognitions.

For use only In whete the of the sombinatien ig v
1 ‘:ﬂm Bcoepladiity detarmined by Underwris

Repons. Aprit 18, 1980: June 23, 1068: May 1, 1964

Replaces £14081 dated September 10, 1984,
84002500

A Underwriters Laboratories Ine.® 210030326
XHNRZ July 17, 198
ngmt = Time-Indicoting 1‘::5 Roeo«n:g Appllances
HANSEN MFG CO INC
903 8 FIRST ST, PRINCETON IN 47870 114001 0

Cyaddwoneva
mkh.l:o.l 840, 880, O, + 030+, 0404, 0424,
008 0000 08 e “:.MNQ 30. §40, 980, 800, 0104 0204, 030+, 0404 .
Motor Noa, M84%, M9360, M90S,

metor Na. 3 “.m?oumk1w.
¢Mmmlolgﬂan mwmmw
‘-
800 Genersl Information Preceding These Recognitions.

Por n ] datermined by Underwris
- €20 GRly -Otm whare the seesptadility of the sombingtion lo

Rosons. April 18, 1980; June 23, 196%; Moy 1, 1964,

Replaces §14091 dated September 10, 1984,
40025001 Undoxf.rlm Laboratories Inc.* Diveodoszd

62



February 24, 1389
’c(z::%%nent « Transformers, General Purpose

CORP E47299 (N)
EN%%% S MADISON ST , BURR RIDGE IL 60521 o dne]

Cat. No. 6938,
Cat. Nos. 7018, 7078.
Cat. No. 7078,
Cat. Nos. 7440, 7448,
Gat. No. 7498,
Cat. Nos, 8383, 8384, 83885.
Cat. No. 8538.
Cat. No. 85169,
Cat. Nos. 88040, 38080, 88051, 88052, 86053, 86064, BBOBS and 87005 may be followed by
X “T" lndicsting the provision of tharmal cutof! in Serres with the primary. )
t Noa. LTOBQ and LVOSO followed by 1,2, -3, <7 or -8, followed by -012, with oc whthout the
sutfix 00 through -99. )
“The last two digits mey be numbaered from 00 to 89 inel

ports: M 25, 1970; Morch 29, 1971; March 28, 1972 Octuber 30, 1875; May 10,
R.1070: Oc.t;?tr Zsl'. 1982 JU:Y 24, 1986; March 19, 1938; June 20, 198€; May 29, 1987.

Replaces E47299A dated February 24, 1988. {Cont. on B card)
242284003 Underwriters Laborataries Inc.® owoozsa;;
XPTQ2 January 17, 1989
Component Transformers, General Purpose
ENSIGN CORP E47299 (N)

B-cont from A card)
PmNo.loervﬁmodbyLPorT.h“Md 002 they 200, to! 4, . |
e A 1S Tl R R
o o3, L012. 1020, 1030, 1040, LOBO, LOSE, LO7S, L100, T001, T002, T006, TO12. 1020
T030, 040, 050, T058, T07%, T100 foliowsd 1. 20rg, fol ' 120 or -510
Ho3. 1040, Tus ors, Tio by towed by -010 thry -120 or .510
Part Nos. P0O1, POO2, POQS, PO12, P020, PO39, P08, PO4O {oliowed by «1,.2 or .3, followed

by
<10 thru +120 with ¢ without the auffix X, Part Nos. U0O), U002, U008, U012, U024, UDas ¢
towed by -2, foliowed by 010 thre ‘240, whth or without the sufis X 9. V012, U024, Loas rol
Cat. No. 86074,
Cat. No. 88030,

Marking: Company name or EA172 and Catalog or Part No. designation
m

See General In‘ormation Preceding These Recognitions.

For use oAl i eucizmont where the Sccopabilky of the combination is determined by Underwrit-
0rs Laboratories Ing,

ﬁC.DO:l’laitnca.-v 24, 1989; August 22, 19e¢; Auguet 26, 1968; Jenuvary 8, 1987; November

Replaces E472998 dated October 31, 1988.

242284003 Underwriters Laboratories Inc.® °lW”'l’7”‘



HEATH Excellence in Signage Nationwide

sng csTaanY

Heath ang Company

Warranty =~ CHUCK E CHEESE
Interior Neon Sign

Heath and company warrants the display provided shall be free
from defects in workmanship and materja] for a period of
Om date of the date of delivery.

The warranty does not cover:

twelve (12) months fr

A.) Damages or destruction from the elements, storm,
lightning, water, wi

of God. nd, fire, earthquake, or acts

B.) Any part or Component which has been modified, in
any way.

C.) Damage or destruction from

misuse, abuse,
vandalism, or misfeasance

by others.

Should sign require service please call 1-800-421-01i81
National Service.

64

. .4
4703 BENGAL STREET « DALLAS, TEXAS 75235-800



. ".\;.,
\';ﬂﬂa :
. ), )' ...-:
w' L2y
“-.&g

Mg

305 NDane Lane Ste. 101
Longwood, Florida 327%0
(407)767-0487

Product Warranty

Dlversifieqd Jesigns herevy varrents on btehalf of huyey
that 1t's prodict(s) or vbroduct systems, as descriked neretin,
shall he Teasorably free frog defects or cdesign defliclencles
for a pertod of siy nonths from date of delivery to buyer,
Frovided, however, that all parts or cormponents that ghalj
covered Yy other MmaAnufacturer's warranties and
nsed in the overall assembly of the product(s)
systems shall he Protected exclusively oy sald warranties,

All "in warranty" services, repairs or replacements

shall he necomplished by Diversified Designs at 1t's plant
facllity 4in Longwood , Florida, where anplicanie,

Diversified Desipns liability to buyer shall we limited
solely to thre service, repair, or replace oblizationg coveren
under paragraphs atove, Diversified Designs srall not he
liable for consequential damages of any *ind except to the

extent, and anly to the extent thig Drovistion is pronibited
by law,

Ny A

David A. Thomas
Presiden®:/Director
Diversified Desiuxns

he
that shall he
or wrcduct

COSMETICS

65




s « « Guaranteed
Quality

with our unprecedented wrtten
guarantee, covenng all matenals
and labot

FIBEROPTIC CURTAIN
| 66

S: 1-800-234-2332
Fi Inc P.O. Box 91143 Portland, OR 97291-1143 WAT
ibertech MFG- Vector U.S.A. 10 Hardy Dr., Sparks, NV 89431




-

l
|

NUU=Wo="2¢ MUN Lbigs Ui = el Sonm s

-

PIONEEIR
PICNEER ELECTRONICS (USA) INC. 50" MONITOR

Re: Pioneer Monitor Warranty

Gentlemen:

Thank you for purchasing a Pioneer Monitor (the
"Monitor"), Our understanding is that you purchased the
Monitor, Model No, SDP-503PK , Serial No.(s)

on arrival date 1590/9] from the tfollowing
Pioneer authorized dealer:

SOUTHWEST ELECTRONIX SUPPLY CO., INC.
2156 Chenault Dr.
Carrollton, TX 75006

Inv., # Date

Pioneer Electronics (Usa) inc. and Pioneer Laser
Entertainment, Inc. (collectively, "Pioneer”), the
distributors of Pioneer products in the United States, warrant
that should the Monitor which you have purchased fail to
function properly under normal use due to a manufacturing
defect when installed and operated in accordance with the
owner's instructions enclosed with the Monitor, it will be
repaired or replaced with a Monitor of comparable value, at
the oYtion of Plioneer, without charge to you for parts or
actual repair work. Parts supplied under this warranty may be
new or rebuilt at the option of Pioneer. The warranty will
cover all parts for a period of 90 days and labor for a period
of 90 days. This warranty only covers the Monitor during the
varranty period vhen the Monitor is in your possession.

This warranty does not cover (i) the cabinet or any
appearance item, (ii) antennas attached by you, (iii) any
damage t~ the Monitor resulting from alterations or
modifications not authorized in writing by Pioneer or from any
accident, misuse or abuse or (iv) any damage due to lightning

or to pover surges.

This Qarranty does not cover the costs of parts or labor
which would be otherwise provided without charge under this
varranty 4if any such parts or labor are obtained from any

67

ORIGINAL = CUSTOMER YELICW - PIONEER



MIJU=Yo=""=1J [TUN Lbild 1U: s NS

e

B> s

e other than a Pioneer Authorized Service Company or
;:::: Pioneer designated location. This warranty does not
cover defects or damage caused by the use of unauthorized
parts or labor or from improper maintenance.

ALTERED, DEFACED OR REMOVED SERIAL NUMBERS VOID THIS
WARRANTY .

Pioneer excludes any obligation on its part for
incidental or consequential damages related to the fajlure of
products distributed to function properly under the conditicng
set forth above. PIONEER DISCLAIMS ANY IMPLIED WARRANTIES
OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE.
PIONEBER LIMITS ITS OBLIGATIONS UNDER ANY IMPLIED WARRANTIES
UNDER STATE LAWS TO A PERIOD NOT TO EXCEED THE WARRANTY
PERIOD. SOME STATES DO NOT ALLOW LIMITATIONS ON HOW LONG AN
IMPLIED WARRANTY LASTS AND SOME STATES DO NOT ALLOW THIS
EXCLUSION OR LIMITATION OF INCIDENTAL OR CONSEQUENTIAL
DAMAGES ,- SO THE ABOVE LIMITATION OR EXCLUSIONS MAY NOT APPLY
TO YOU. THIS WARRANTY GIVES YOU SPECIFIC LEGAL RIGHTS AND YOU
MAY HAVE OTHER RIGHTS WHICH VARY PROM STATE TO STATE.

Repairs made under the terms of the limited varranty
covering projection monitors will be performed at the location
of the Monitor, durin? usual working hours, provided the
location of the monitor is within normal operating distance of
the closest Pioneer designated location in the USA. 1f,
solely in Pioneer's judgement, the location of the Monitor to
be repaired is beyond normal operating distance of the closest
Pioneer Authorizod.Scrvxce Company, it is your responsibility
to send the Monitor for repair, transportation prepaid,
carefully packaged and insured, to a location designated by
Pioneer. The Monitor will be returned transportation prepaid
in the country of original purchase.

If you desire any additional information please. contact
Pioneer at:

Customer Service Department
Pioneer Electronics Service, Inec.
P.0. Box 1760

Long Beach, CA 90801
1-800-421-1404

PIONEER ELECTRONICS (USA) Inc.
PIONEER LASER ENTERTAINMENT, INC.

- FORM #380-03 10/88



]
[

318 WesT 477H STreeT/ New York, NY 10036
TEL/212-243-4155 FAX/212-956-6537 TELEx/230199 SWIFTUR

SLD'S PRODUCTS ARE WARRANTED TO BE FREE FROM DEFECTS IN MATERIAL AND
WORKMANSHIP FOR A PERIOD OF 90 DAYS FROM THE DATE OF PURCHASE.
PRODUCTS WHICH PROVE TO BE

EITHER REPAIRED OR REPLACED, AT SLD'S OPTION, PROVIDED THE ITEM

OF PRODUCTS, AND THE ITEM HAS NOT BEEN MISUSED OR ABUSED.

INDIRECT OR CONSEQUENTIAL DAMAGES OR FOR PRODUCTS WHICH IN
HAVE BEEN MISUSED, WILL NOT BE ALLOWED.

RELIABILITY ONLY AND NOT A WARRANTY OF MERCHANTABILITY OR FITNESS FOR
A PARTICULAR PURPOSE. SHIPMENTS MADE TO

THIS WARRANTY WILL BE MADE ON A FREIGHT COLLECT BASIS ONLY.

HELICOPTER LIGHT

69



O T e . i e e e . e o

e P Al st e e o
- - P . 55

Crm e NKU R LT =L NO. L0 I = S R

NATIONWIDE CARPET COMPANY
4500 WALTHALL DR.
FT. WORTH, TX 76117
(817) 838-7360

Carpet is warranted against defect
in workmanship and material for
two (2) years.

Claim must be made before carpet is
cut and installed.

'(B&L;»._. T

WILLIAM NEEL

CARPET

70



map-drape ine,

October 17, 1980
FAX 214/258-8545

Shelly Atkins

Showbiz Pizza Time, Inc.
4441 Airport Fwy.

PO Box 152077

Irving, TX 75015

Dear Shelly,

ersity
. rie
Scale FR Test. passes the NFPA 701 Small

Snap Drape, Inc. warrants o
workmanship for a period of e anaction end

on s i
during the warranty period o either o alures

will be either re
replaced by Snap Drape, Ine. at our option .pad.red o

Very truly yours,
SNAP DRAPE, INC.

Nos

Felton Norris
President

VALANCE

71



INDEX

50" Monitor

Center Stage/Bass Drum Front

Center Stage/Carpet Procedure§
Center Stage/Cosmetic Applications
Center Stage/Hooking up Characters
Center Stage/Placement of Characters
Center Stage/Placement of Props
Center Stage/Spotlights

Chuck E. Cheese Mechanical Arm
Computer Room

Daily Schedule

Damage/Inspection List

Destruction Checklist

Destruction Procedures

Diagram A/Pasqually Stage/Stage Left

Diagram B/Center Stage/Munch Band
Diagram C/Sta

ge Right/Chuck E. Cheese
Fiber-Optic Curtain

Final Steps

Flameprooﬁng

Helicopter Light

Jukebox

Neon Sign

Quick Disconnect Procedures
Reconnecting Airlines

Rock-A-Fire Sign

Stage Left/Bass Drum Front

Stage Left/Carpet Procedures
Stage Left/Cosmetic Application
Stage Left/Hooking up Characters
Stage Left/Placement of Baseboard
Stage Left/Placement of Characters
Stage Left/Placement of Backwall
Stage Left/Spotiights
Stage Right/Carpet Procedures
Stage Right/Cosmetic Application
Stage Right/Hooking up Characters
Stage Right/Placement of Characters
Stage Right/Placement of Props
gtage Hight/Spotlights

tar

Tools Required

Trap Doors

UL Listing

Vendor Telephone Numbers

Warrantieg
Wink

72

@yB838 E

EELS
5

- 4 2 0p S
2E5EEBYBSIR "D

20, 21
21

21

45, 46
38

42

43

37

37

45, 47
39

10

15, 28, 38
58

1

64

36



CONCEPT UNIFICATION TAPES AND USAGE

CU INSTALLATION TRAINING %ﬁfE
i soon as possible.

is tape should be v1ewe§ as _
zgzrview of the Installation Process. It will

This is a brief
of what to expect during the change over.

give you some idea

SPP ROLFE & EARLE TAPES
These tapes are to be used as your showta

Pe while the conversion
is in progress. You have been provided an extra tape to b
;s an emergency back up. Once the conver

sion is complete,
return your back up tape to the home office. 1If this tape
returned within 10 days,

there will be a $25.00 charge.
label is enclosed for your convenience.

CONCEPT U DIAGNOSTICS
(2 TAPES)
These are the tapes you will

use to adjust charact
lights. They will be used toward the end of the ¢
periodically to keep characte i i

SPP'CONCEPT UNIFICATION PREMIERE
ion is complete, i i

uction to the new
pPpening with the ne
anging to your regu

Once the convers
It is an introgd
know what is ha

characters an
month before ch

W show. This
lar showtape.

d lets the public
tape should run a

CU SEPTEMBER 91
This tape will be

the one put
UNIFICATION PREMIERE has pPlayed for
a@ new showtape before You have start

/WAVE (3 STAGE)
in rotation once

the CONCEPT
a month, howev i

er 1f you receive
ed to play this tape, hold this
tape as a backup tape.
CU EMERGENCY BACK UP TAPE
This tape is to be

used in the event of DECK FATLURE ONLY.
Instructions enclosed.

SHOWBIZ PIzzA TIME INC
4441 W. AIRPORT FREEWAY
IRVING, TX. 75062

ATTN: ENTERTAINMENT




FROM: ENTERTAINMENT DEPT.

TO : TECHNICIANS

RE : CONCEPT UNIFICATION EMERGENCY BACKUP TAPE

This tape is being sent to you for EMERGENCY USE ONLY! T+t is
to be used in the event of TAPE DECK FAILURE ONLY! If YOou have g
deck fail, it will be necessary to rent a STEREO VHS deck from a
local supplier. This tape will play in either a HiF1 or Normal
audio playback deck, as long as it is stereo. This is only 2
temporary measure to keep the show operational until you can get
a replacement deck sent to you. 1If You have the optlonx shguld the
case arise, rent a deck with auto or full repeat. Thls Will keep
you from having to rewind the tape manually every time it reaches
the end of the tape.

on the right channel. The steps necessa
is as follows:

+ Mmaking
carefully before unplugging then from the
down deck.
2nd-Connect VCR audio out left to Computer data 2.
3rd-Connect VCR audio out right to aAv Switcher L1.
4th-Connect VCR video out to AV Switcher Video In 1.

S5th-Make sure your computer is in VCR ADJUST To do this, push the
reset button (wait a few seconds) and then push the enter button
3 times untiil VCR ADJUST appears in your LCD Computer Display.

Finally, this t
Light Dim commands.

with the eXceptions of

ape does not contain any Birthdays or any House
It will play 1like

a regular Cyberstar Fape
the Birthdays and the House Lights Dimming.

If you have any questions, call Technical Support or The
Entertainment Department at (214) 258-8507.



. ; . These tapes have lo -

re 2 diagnostics tapes ; nger sjgn
EnC19$:i;;u ample time to make your adjustments.  Eacp Og :iz
chara:lso in the order of the valve banks for
are

racters. The lights are approimately 30 Seconds each, A1l
character movements will be on tape #1 and your Props ang lights
c?il be on tape #2. The description, order and
W

aPProxXimate tape
counter numbers are listed below.

CONCEPT UNIFICATION DIAGNOSTICS TAPE #1

DESCRIPTION APPROXIMATE COUNTER #

Slate & Dual Pressure Specifications 0008
CEC 0025
Mouth

Ears

Eye Lids

Eyes Left

Eyes Right

Head Left

Head Right

Head Up

Left Arm Raise

Left Arm Twist

Left Elbow

Right Arm Raise

Right Arm Twist

Right Elbow

Body Twist Left

Body Twist Right

Body Lean

HELEN

0650
Mouth

Feather Pig Tails
Eye Lids

Eyes Left

Eyes Right

Head Left

Head Right

Head up

Left & Right Arm Raise
Left & Right Elbows

Left & Right Arm Twist
Body Twist Left

Body Twist Right

Body Lean

March 14, 1991



MUNCH

Mouth

Eye Lids

Eyes Left

Eyes Right

Head Turn Lgft
Head Turn Right
Head Tilt Lgft
Head Tilt Right
Head Up

Left & Right Arm Swings

Left & Right Elbows
Foot Tap
Body Lean

JASPER

Mouth

Eye Lids

Eyes Cross

Head Left

Head Right

Head Up

Right Arm Raise
Right Arm Twist
Right Elbow Twist
Right Wrist out
Left Hand Slide
Guitar Raise
Leg Raises

Body Lean

PASQUALLY

Mouth

Eye Lids

Eyes Left

Eyes Right

Head Left

Head Right

Head up

Left Arm Swing
Right Arm swing
Left & Right Elbows

Hi Hat (foot combo)
Body Lean

(Strum motion)

1023

1320

1600

March 14, 1991



rape #1 C

CAMERA

Mouth

Eye Lids
Eyes Cross
Head Right
Mech Raise

ont.

1810

March 14, 1991



CONCEPT UNIFICATION DIAGNOSTICS TAPE 42

DEsCRIPTION APPROXIMATE COUNTER #

puilding Mouth
puilding Railses
Moon Mouth 0114
Moon Ralses

Wwink 0206

Munch Jr. 0248

pual Pressure 0290

CURTAINS 0310
Stage Right (Closes & Opens)
Stage Center (Closes & Opens)
Stage Left (Closes & Opens)

SPOT LIGHTS 0386
CHARACTERS

CEC Spot

Helen Spot

Munch Spot

Jasper Spot

Pasqually Spot

Camera Spot

PROPS ) 5540
Building

Moon

Jasper's Guitar

Munch Jr.

Wink

March 14, 1991



rape #2 Cont.

STAGE LIGHTING
STAGE LIGHTING

STAGE R2U2°

Neon .
star Tips
star Bursts

CEILING FLOODS

Blue
Green
Amber
Red

STAGE CENTER

Fiber Optic Curtain

Organ Top Blue

Organ Top Red

Organ Top Amber

Organ Top Green

Organ Strobe Continual
Organ Strobe Flash

Organ Leg Top

Organ Leg Center

Organ Leg Bottom

Sign Lights Inner Circle
Sign Lights Center Circle
Sign Lights Outer Circle
Sign Strobe Continual
Sign Strobe Flash

Sign Lights

FLO

OR_FLOODS

Yellow (Sides of Sign)
Red (Sides of Sign)
Blue Wash Floods

Red Wash Floods
Green Wash Floods
Red-Yellow—Red
Blue-Yellow-Blue

CEILING FLOODS

Blue
Amber
Reqd

(Red)
(Amber)
(White)

0654

0734

March 14, 1991



Tape #2 Cont.

0993
STAGE LEFT

i Drum
tform Light Bass
gi:tform Light Snare Drum

FLOOR FLOODS
FLOOR FLOODS

Red
Blue

CEILING FLOODS

Blue
Green
Amber
Red

Helicopter Light

Socket Test Center Stage Ceiling Green

Big Screen TV - This is formatted 1li
portion of the tape, eject the tape,
Cyberstar Computer, put the tape back
STOP button on the VCR as soon as

ke a Show tape. To use this
push the reset button on the
in and immediately push the
it goes into rewind, The

und to the head and go into
play. You will get a header on the LCD display window of the

computer stating BIG SCREEN (next line) TEST. Your regular
monitors should show video the entire time, however the BIG SCREEN
should turn off and on with the video in the TV. 1f you have any

Questions, Call the Entertainment Department or Technical Support
at 214-258-8507.

March 14,1991



